Year 4 English Answers and codes

Piece is the only word which does not have a homophone. There are
five letters in the word piece.

The first digit of the code is E]
v

In six of these words, the apostrophe to show possession comes after
the s. These words are bees’, girls’, boys’, babies’, cars’ and knives'.

The second digit of the code is
0

Five of these nouns would need the determiner ‘an’ when used in a
noun phrase: an apple; an umbrella; an orange; an ice lolly; an arrow.

The third digit of the code is E]

Only two words are used which have the prefix super-. These are
superstar and supermarket.

The fourth digit of the code is @

The most commonly used conjunction could be either but or yet. Both
of these conjunctions contain three letters.

The fifth digit of the code is E]



Four of these sentences contain a prepositional phrase. A
prepositional phrase is a phrase which contains a preposition - a
word which shows where things are in time or space.

The sixth digit of the code is

Only four of these words are adverbs: sadly; completely; usually;
finally. The rest are adjectives or nouns.

The seventh digit of the code is
0

Five of these words belong in the vent word family. They are prevent,
invent, adventure, eventful and venture.

The eighth digit of the code is E]
O

The answers are ‘minute’, ‘reign’, ‘island’ and ‘circle’. The hidden
number spelled out in the yellow squares is nine.

The ninth digit of the code is E]
®

Only one of these sentences contains correctly punctuated direct
speech. The rest are missing inverted commas or end punctuation
within the inverted commuas.

The tenth digit of the code is E]
0



